9.5Basee and Natural Logs Name KQW Date
Algebra 2 Trig )

The otheday, we compared different compoundings of a $1000 investment with a 1.5% annual
interest rate. AfteR yearsof growthwe getthe following results: \,
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Basee and Natural Logs

eis an irrational number like pi

e=_21828...

A logarithmwith abase okis called a WVR\ \,O%Aﬂ'\'&l«w\f

l0ge X = IN X

1) Rewrite in exponential form.

a) In5° 1.609 b) Ine=1
100, 5 % 1.004 loge €= |
feremes)
2) Rewrite In logarithmic form.
a) €° 20.0¢ b) €2°0.13¢

loq, 20.04% 3 loge 0.135 2 -2
(In 20.04% 3) (n01354-3







